1. ¥84
kG4 A0 6 AFFER L =N AGO B HEAA (RIIZER - 2 ATHFIH) 5
BT AT R LLFAT) 3555 A PN R OV & R BT A N

1) EFA AR 64 34 7) JiE TR R L1 R
2) HHHT4 R (LRI T SRIsa KRR 8) # X A X
3) EEBES 24874061020014 9) Wl - B
4) RSy HAEE (MliLz&at) OoNEE 10) HFHEA AF 64 34
5) ZHE[E%K 11) ZBE—fER 0%
6) JEITHIM 325 HH H & 64 4H10H 12) Hfh#H4EA S0 64 4H
(44 £ Af T4 2H28R 1 3) A AR A aF 64 4H
(% EEE) = £ A H 14) AiFEAEGE M
15) iK% M
BGE EHNE
3. THAA
1) THRBH 2) H 3) HoOMy 4) F¥EA

o E 5 B A )



AR

EHAL | A6 EERM L ZN AR MEEA (IR - & 2R 25 E WS
H H ) BRI A
THE - T - FER - M5 HAE BT & =S i SFH Ho SEEHE fi
1)1 BRI A
= 1 16, 361, 251
TN AGD BRI AT
= 1 6, 855, 801
WA BREETR A (AT 22 MR 55
EHEY)
= 1 6, 855, 801
AT ZE FER FH FERE R AT W 1%
= 1 6, 855, 801
A IR B SERE R A
= 1 8,913, 350
A IR SEREFR A
= 1 8,913, 350
A IR SERE R A w 2 =5
= 1 8,913, 350
PhELI D=V ITHHE
= 1 592, 100

FEszdmd  H E TR



AR

EHAL | A6 EERM L ZN AR MEEA (IR - & 2R 25 E WS
H H ) BRI A
THE - T - FER - M5 HAE BT & =S i AFA Ho SEEHE fi
PhELISVE=H) VT HE
= 1 592, 100
NPHELILVE=HXY U IHE W 3 5

= 1 592, 100

SIS ]
= 1 340, 650

i@
= 1 340, 650
Frewss
= 1 340, 650
Téw N 4 =

= 1 340, 650

[R5t
= 1 258, 530

[EREE S
= 1 258, 530
-2 - [E -2z PIEHG AR R



RE PR

WA | A6 FER L =)IAGDBMERE Q)25 - 4 AFIH) 5 E WS
H H [EREE 3
HH - TfE - fE5 - 5] HAE BT & =S i AFA Fe R SEEHE fi
i3 Gk
= 1 93, 530
g (CGREFE - EiAE) N 5 &
= 1 93, 530
CREDE SN0 % ¢
= 1 165, 000
CRADE SN iSD% ¢ N 6 &
= 1 165, 000
B
= 1 16, 960, 431
M
=X 1 10, 599, 569
FETRE W 75
=X 1 10, 599, 569
Mili=eer iy
= 1 217, 560, 000
-3 - [E -2z PIEHG AR R



N

=
EB4 | A6 RN L )G BIER A (1220 - & LRI 265 ¥ T BB
H H THEBHE Y5
HE - TR - FER - A Biks B Kok LAt ot $ B BB LS
THE B 3R
= 1 2, 756, 000
W BT
30, 316, 000

FEszdmd  H E TR



N = =+ HA 8 4 A 2024. 04
/ﬁ( I; ‘| ﬁR A 1A A 2024. 04
= TR 1. 000-0000-0000-0000-0000-1-0 0
7)1 22 R A FERE AR A
LT - B {4 HAL o x| T L

A g &
ES 191, 650

A1) 122 R A FEREFR A5 9 &
B 6,123, 351

KRR DOVERK 10 &
kW 238, 050

WAEEER 11 &=
kW 302, 750
6, 855, 801

FEszdmd  H E TR




N = =+ HA 8 4 A 2024. 04
/ﬁ( I; ‘| ﬁR A 1A A 2024. 04
= TR 1. 000-0000-0000-0000-0000-1-0 0
A NI L e A
LT - B {4 HAL Y HAT x| T L

A e e w12 B
ES 233, 650

BLHEH A w 13 &
B 7,954, 200

R DOMERL (BR1 ~7) H 14 &
kW 257, 300

WA R H 15 5
kW 468, 200
8,913, 350

FEszdmd  H E TR



N = HA 8 4 A 2024. 04
/ﬁ( I; ‘| ﬁR A 1A A 2024. 04
TR 1. 000-0000-0000-0000-0000-1-0 0
3 = NoELOVE=FY VT HE
HH LT - B {4 HAAT gy x| T L
A 16 =
ES 164, 350
fFhEE £o0 17 =
B 85, 800
TR ) 1 ZE R ) SE RE R AL s 18 &
kW 71, 500
;I/A\lj:l:% & V) i & ?5{) 19 %
kW 270, 450
592, 100

FEszdmd  H E TR




N = iﬁ Al 4 A 2024. 04
1 /j 5( W :R SESEFIER | 2024. 04
H = TR 1. 000-0000-0000-0000-0000-1-0 0
4 EARacx
HH LT - B M HAL s HAT 448 T L
FIE8 (hl lLgmg )1 255 T) N 20 &
= 1 238, 950
Tad (GEZ LEBAT) N 21 &
= 1 101, 700
340, 650
= iﬁ B 6 FH AF H 2024. 04
1 yj 5( W o BEEAER [ 2024. 04
H = ESHEEIER | 1.000-0000-0000-0000-0000-1-0 0
5 & ik (R L - minE)
HHE LT - B 1 HAAT e HAfff BHE HE
BEHEAE
= 1 16, 701, 901
i (RELE - fEnE)
A2 X 0. 0056
= 1 93, 530
93, 530

-4 - FEszdmd  H E TR



Al 4 A 2024. 04

AR AR A 2024. 04
TR 1. 000-0000-0000-0000-0000-1-0 0

}L%
I

1 % W F

6 = B AR SRR
HH LT - B M HAL R HAT Xl i
EE A
= 1 16, 701, 901
CERD % ST D % ¢ 2. 3X EH A (FFH) 0. 44
SEEESIUE A
= 1 165, 000
165, 000

FEszdmd  H E TR



Al 4 A 2024. 04
AR A A 2024. 04
TR 1. 000-0000-0000-0000-0000-1-0 0

/S

H>L]ljll
I

3¢
o B %IF B B R o —
[ERER R
RARTEE & Br<
A 1 16, 960, 431
AR R
% 62.5
BB X R R
A 1 10, 600, 269
~700
10, 599, 569

-6 - FEszdmd  H E TR



